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British Government in 1815 – Constitutional Monarchy

Definition:
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The English monarchy didn’t have complete control of the country. It had to deal with a system set up by the constitution called 


2.  This was a part of the government that controlled the money and made laws.  Parliament was split into 
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Definition of Rotten Boroughs: 
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So you can see there were a lot of problems with this government:

· Only 5% of people can vote for the House of Commons

· Rotten Boroughs make representation silly.  What are you doing representing sheep?

· Catholics can’t vote

· House of Lords can veto anything done by the House of Commons making them useless

The Liberals wanted this government to 


14.  During the 1800s their wish would be granted, but the changes 




15 until all men could vote


1820s Parliament allowed Catholics to vote and participate in Parliament

1832 Reform Bill

· Rearranged seats in the House of Commons giving representation to large towns and getting rid of rotten boroughs.

· Expanded suffrage to men with a certain amount of property

· Liberals were happy

· Nobles remain powerful

1830s - 1848 Chartism Movement

· Working Class still not happy with 1832 Reform Bill

· They want

· Universal male suffrage (all men are allowed to vote)

· Secret Ballots in elections

· Annual elections for members of parliament

· To get this they pass around petitions called charts (this is where the movement got its name)

· Got millions of signatures, but parliament would not listen

1867 Reform Bill

· Suffrage given to many working class men – but still not all men.

· Almost doubled the size of the electorate

1884 British Franchise Bill

· After years of pressure Parliament gives in

· Universal male suffrage is granted in Britain.

· By 1911 House of Lords is just for show.

· Britain becomes a democracy!!!
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Could 		  7 any bill passed by the House of Commons
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But by only 	10 of population


		11 could not vote or serve in parliament


Biggest problem, 
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